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(a)

(b)

~var (fsys) =

Show that variance of the systematic sample

‘mean is given by
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Explain the analysis of one way classification.
¥ D HBEBoDH 9 38 IFJeE DHBoYHHN.
Or :

Explain the analysis of two way classification. -

BB 2 HHEBoY P & IFies DHBoYHHW.

Explain the analysis of Randomised Block
Design.

QTS ot BB Bk, :)'é;’xea;ﬁo 9580%06.
Or

Explain the analysis of Central Randomised
Block Design. (CRD)

Bos oroEE GBS B, DIHeard 9580908,
(CRD) '
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SECTION A — (5 x 5 = 25 marks)
Answer any FIVE questions.

1. What are the advantages and limitations of
~sampling? »
|SDETHH00 BooE); SEociTren S08akn I6Few AY?

2.  Explain the advantages of sampling over census.

WP Ey PO Soitrm  SE8S” Ko
BEOIBIeHen 9HBoBod.

3. Explain the need for stratification.

WBBOO GDTEBD DHBoHoG.
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Explain the fixed effect and Random effect model.
D§)& BoBatfy BB I S K80 85803,

Discuss optimum allocation in stratified random
sampling.

RBE AEO)E PAErY Nreed el ety
KoBod BEyodunw.

Explain (a) Local control (b) Randomization.
2580104 : (a) DY Ao, (b) cSrEy98gy®.

Discuss the efficiency of RBD over CRD.
R.eb.8. D eb.o.d. Gy, $SE3aDanen BenPHiw.

Explain Latin square design.
3R JBOSD B9 D5BoV0E.

(a)

(b)

SECTION B — (5 % 10 = 50 marks)
Answer ALL the questions

Explain principle steps involved in a sample
theory.

[BOErS Dol Drrobod® 5GTH) MG
&Eod) 9560906,

Or
Explain sampling and non-sampling errors.
BSBETS 556050 eS86S e 958095,
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10.
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11.
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(a)

In simple Random sampling with out

replacement, show that s is an unbiased

estimate of s°.

B8R DD DETASrE0yE SHErD Soyie
ITHINSG” SPeds @y, uf m3Y
LoD 9 DErUCHOG.

Or

Explain the methed of SRS. Also obtain
variance of sampling mean in case of
SRSWOR.

J6Y  ArE)oyE SOErD 540 2380paw
20800 SRSWOR  B@ches® (30573
©OEEFIR A, D3 yAD EAHAW.

If a population consists of a linear tied, then
prove that -

var (¥, ) s var(¥g,) svar(y,) R.
S50 A8 JET Targys 1398 o3,
var (¥, ) s var(¥,,,) Svar(¥,) R &
DETrJoDod.

Or
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